o2 ZAI} QU BRtAE

= 8Y/HMIZ olo|x]

o

BEIX|7F US.
X

= - o
= Ac>"5-7|‘ 9;!: %I'EDIE =8 JE

L

THE:

Cl2| YotAaM, 23t REl &8, AEM

KA A 20|E

M OlR2:

Az, odnbEl XpedM AL %2

AL, Moilo|M Qe ZetAEl IR AY

Sol 574X H=tEt 2IXKIE R E.
AEMotpdi =g 1 A3 F7e i 3
M U HEE & S2E.
=gl
ZEHo 2 2E
N
A - 40mm P
{ ’| e
= =
- o =]
= ? x !
T~
g aa)
D TV B
© — (@
7, L U
L ===
E= Qo
F218
FEHS A AE EH A B B1 D H L 3t=
718 A N
K0210.180 g20lE odofb 2l AFSE &2 180 26  20X2 M8x20 55 204 500
K0210.200 g20lE Aol & &S & 2| 200 26 20X2 M8x20 55 224 500
K0210.250 g20lE odob 2 &S &2 250 26  20X2 M8x20 55 274 500
K0210.300 g=0ls odob & st X2 300 26  20X2 M8x20 55 324 500
K0210.350 g20lE Aot & Atst &2 350 26  20X2 M8x20 55 374 500
K0210.400 g20lE odob 2 A3 &2 400 26  20X2 M8x20 55 424 500
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



°
=y =] == | — |
UXZ A7)0 S2AE SIE M3V = R 0|E FE 18
EZS 29
FEHS 2 A EH A B B1 D H L e
712 S| N
K0210.500 PET= odor 2! &tst X2 500 26  20X2 M8x20 55 524 500
K0210.600 g20l= odob 2 A3 &2 600 26  20X2 M8x20 55 624 500
K0210.1803 g20ls B4 K| HH 180 26  20X2 M8x20 55 204 500
K0210.2003 g=0l= x| A 200 26  20X2 M8x20 55 224 500
K0210.2503 20|15 g =x| 7{bq 250 26  20X2 M8x20 55 274 500
K0210.3003 g20ls B4 X| HH 300 26  20X2 M8x20 55 324 500
K0210.3503 g=0l= x| A 350 26  20X2 M8x20 55 374 500
K0210.4003 20|15 g x| 7{bd 400 26 20X2 M8x20 55 424 500
K0210.5003 g20lE B4 x| HH 500 26  20X2 M8x20 55 524 500
K0210.6003 g20lE K] HH 600 26  20X2 M8x20 55 624 500

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



